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Exercice 1 : Corrigé 
Effectuer les calculs suivants : 

1) 1064 −=−−  2) 3107 =+−  3) 41410 −=−  4) 3575 −=×−  5) ( ) 4276 =−×−  
 
 
 

Exercice 2 : Corrigé 
Effectuer les calculs suivants : 

1) 11154534 −=−=×−  

2) ( )( ) ( ) 213785136 =−×−=−−  

3) ( ) 3424104610 =+=−×−  

4) ( ) ( ) ( ) 31112011201432072320 =+=−−=−−=×−−  

5) ( )( ) ( )( ) ( ) 511,5101,520108,13,35410 =−×−=−−=−−×−  

6) ( ) ( ) 28741254 =−×−=−−  

7) ( ) ( ) 14212243 −=−−=−+−×−  

8) ( ) ( ) ( ) 24141014102061045610 =+=−−=−−=×−−  

 
 


